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MZEZBA 363,500 *330m 119,955
O2X sIHYUHAGA L SHDAF 22| 16,000
405 XHAHFI S HI 500,000 3,000 497,000
= 210,000
Al 290,000
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01 et EFFHSHI 500,000 3,000 497,000
OsJ1H dUMEEE T (3.58
HMOZ2HI I sEM) 000,000& = 1CH 70,000
OzXNsIAH SUHA Il (pe, M &
g) 10,000
OLUHAIHE sI1H+ 98CH) 380,000
= 190,000
Al 190,000
Ot At E XIAHX # 40,000,000 = 1CH 40,000
= 20,000
Al 20,000
SI|IHMBI A3t 14,898 ,898 A54,000
101 @144 dl 10,898 ,898 0
04 J12tHIZ2 2 Xt 10,898 ,898 0
O=sJlA &3 60,540 1802 10,898
206 M= Hl 4,000 ,000 254,000
01 M2 4l 4,000 ,000 254,000
O=3z=c&8 sI3H 80,000& *x50& 4,000
S HEE ALY 49,000 ,000 20,000
= 24,500
Al 24,500
201 Let249] 900 900 0
= 450
Al 450
01 At 22l 900 900 0
OsJIAEE0EI=ns 29
90,000& 1038 900
= 450
Al 450
206 M= Hl 900 900 0
= 450
Al 450
01 =8l 900 900 0
O=sJIAHEZE0E)=zns 457
150,000& 65 900
= 450
Al 450
301 L2 A=z 1,200 1,200 0
= 600
Al 600
10 HAAHI 2 & 1,200 1,200 0
OsJIAHEZEO S &
2,000& 100 1,200
= 600
Al 600
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405 RHoHE S HI 46,000 26,000 20,000
= 23,000
Al 23,000
01 AL EZFH S 46,000 26,000 20,000
Osgz2fH+¢ 30,000,000 *1CH 30,000
= 15,000
Al 15,000
O2&4HI| 7L 16,000,000& = 1CH 16,000
= 8,000
Al 8,000
ERSPNR] 4,062,433 3,072,789 989,644
= 479,284
& 1,050,000
< 57,400
Al 2,475,749
JEINE2H 1,331,901 596,422 735,479
= 174,150
& 280,000
< 10,000
Al 867,751
DS Mat 154,800 94,200 60,600
402 2I2H X201 M 154,800 94,200 60,600
01 RIZEAI=2E X 154,800 94,200 60,600
O SZHA & WSAE
5,000, 0003 *6IH 2= *60% 18,000
O=4®™ XJ| ot HHES 24SAY
28,000, 000& *60% 16,800
O 2S3ERI| A8 50,000,000 *60% 30,000
OStRE0HAl ZII0IR UASBER AZAIE
70,000,000 x60% 42,000
OFTALHE M AME dMasE ASAEY 48,000
HolESEHI =X 356,802 17,500 339,302
= 74,150
Al 282,652
101 @124l 12,442 17,500 25,058
= 6,220
Al 6,222
04 JIZHHZ2XNSE+ 12,442 17,500 A5,058
OHHBACA 2ol2Y ALY
38,8803 x160L »2¢! 12,442
= 6,220
Al 6,222
201 Let24d] 1,500 0 1,500
= 750
Al 750
01 At 22/l 1,500 0 1,500
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I
(SRl
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H
H0

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 10,000
Al 23,300
402 RIZFX20l ™ 33,300 17,000 16,300
< 10,000
Al 23,300
01 RIZEAt2EX 33,300 17,000 16,300
OMINSASAI HAAIY 33,300,000 * 100 & 33,300
< 10,000
Al 23,300
sENME S20Ss8 J=XdE 200,000 0 200,000
= 100,000
Al 100,000
201 Lt 2| 1,000 0 1,000
2 500
Al 500
01 At 22l 1,000 0 1,000
OsH¢E 22038 J=Xd FT MRES
-+ 200,000& =53] 1,000
= 500
Al 500
301 LA F 2,500 0 2,500
= 1,250
Al 1,250
10 #AtAHIEAZ 2,500 0 2,500
Os=s¢tE 2108 Jls sltus 884
2 #iX o2 50,000& *10= Jt+53] 2,500
= 1,250
Al 1,250
402 QI2H X =0l & 196,500 0 196,500
= 98,250
Al 98,250
01 2I2tR2E X 196,500 0 196,500
OSXl SHEEMS M ASEI HACP X2
AE 196,500,000 *1JH A& 196,500
= 98,250
Al 98,250
NASEXNETMSELSXA(RSHLAHEH) 560,000 0 560,000
& 280,000
Al 280,000
401 AIEHI L 20 112,000 0 112,000
= 56,000
Al 56,000
01 A& Bl 112,000 0 112,000
SEXNZIIBHAIA 112,000, 000& *17H 2 112,000
& 56,000
Al 56,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 RHoHE S HI 448,000 0 448,000
2 224,000
Al 224,000
01 et EFH 448,000 0 448,000
OsZX&E7| &REAND S
24,000,000& 23 448,000
& 224,000
Al 224,000
AEHERY 1,909, 148 1,681,604 227,544
= 287,874
& 650,000
< 47,400
Al 923,874
AIl=2 S A 575,748 1,026,004 A 450,256
= 287,874
Al 287,874
207 O] 5,000 4,000 1,000
= 2,500
Al 2,500
03 Al & 11l 5,000 4,000 1,000
OZDEBX MY M4 ALEA W2
500,000& *x10& 5,000
= 2,500
Al 2,500
301 et d = 24,000 21,000 3,000
= 12,000
Al 12,000
10 ALAHI 2 & 13,000 21,000 A 8,000
Ozlns& U = F&AL B4
00,000& =103l 8,000
= 4,000
Al 4,000
OEZ=RE H4¢ oI 24
500,000& =103l 5,000
= 2,500
Al 2,500
12 JIEE4 =3 11,000 0 11,000
Oz13& 1 Jlzsns M=
250,000 *43| 1,000
= 500
Al 500
OO0t Z2 &Y ==
10,000, 0002 14! 10,000
= 5,000
Al 5,000
402 RI2EX20l A 546,748 990,004 AN 443,256
= 273,374
Al 273,374




fAM: sgIlsdH
PSR B PSON R
o9l ASHERY (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 22t 22X 546,748 990,004 AN 443,256
OEZTY 4 HLANL2E JI=E23AE
50,000,000 * 104 2 50,000
= 25,000
Al 25,000
ORUE SHTXES 288 AN ESHIA
=S 30,000,000 *1JH 2 30,000
= 15,000
Al 15,000
OME=4& ZTE HAAIEY
60,000,000& »1&H X 60,000
= 30,000
Al 30,000
OUUHXNIZZE =50 AMIESIRA THHIOI= Al
& 70,000,000 »1&H X 70,000
= 35,000
Al 35,000
Ol SE&= ==l X5 NS4 Al
=S 100,000,000& *1&H X 100,000
= 50,000
Al 50,000
OLNSE =2UE T ML AIEH
50,000,000 *1&t X 50,000
= 25,000
Al 25,000
OZNEZE WU MAMI|= AESX SHAE
86,000,000 »1&t X 86,000
= 43,000
Al 43,000
OEEZIE Midls MNEEHX 4
80,748,000& »1&t X 80,748
= 40,374
Al 40,374
OsELAsgs AL Ald
20,000,000& * 104 A& 20,000
= 10,000
Al 10,000
ASIIEtEH 180,000 187,200 AT,200
402 RIZ2FXt20l ™ 180,000 187,200 AT,200
01 22t 22X 180,000 187,200 AT,200
OrEd MWL SEEA Il MY
35,000, 000& *60% 21,000
Ot MEES % AJI= MHHAIY
100,000, 000& *60% 60,000
OFZE S0ItA a4k THEHAIE
30,000,000 = 17K 2 x60% 18,000
O2UE =0l Aok Al
54,000, 0003 =1t XI *60% 32,400
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AN sg€II=4dH
PSR B PSON R
ool ASHESY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSE&E dXIo EASFME Al
46,000,000 * 1€k XI *60% 27,600
OZFE THHHAIE 35,000,000& = 17H A x60% 21,000
ASHSZHHALE 12,000 14,000 A 2,000
207 RO 12,000 12,000 0
03 A& &2l 12,000 12,000 0
O=22E 1210 Z ST MMHl AlE
10,000,000& *1&H X 10,000
OZII=22d2EMHE 7Y 200,000& 108 2,000
NAsHELS}I =X 915,000 360,000 555,000
= 600,000
Al 315,000
201 £B-2dH| 12,000 6,000 6,000
& 7,200
Al 4,800
01 At 22/l 12,000 6,000 6,000
Otln=2e F¥H HMIAY E2 £ NHEHE
1,000,000& *62] 6,000
& 3,000
Al 3,000
OXY9=g E43AY 22 & U= ME
500,000& =123l 6,000
& 4,200
Al 1,800
202 OHl 3,000 3,000 0
& 2,100
Al 900
01 = LH 4 Hi 3,000 3,000 0
OANEZAL & BIXI0tZ 4B 300,000 %102 3,000
= 2,100
Al 900
207 O] 16,000 0 16,000
& 10,000
Al 6,000
03 A& &34l 16,000 0 16,000
OHluee HH HMIAY =& WSHE +
e 300,000& 203 6,000
& 3,000
Al 3,000
OXY9=sg S4stAY =& g ¢
400,000& 255 10,000
= 7,000
Al 3,000
301 et d = 24,000 12,000 12,000
& 14,700
Al 9,300




A sgI=HH
M HEHEXE
o9 ASXHES2SY CERED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
10 HALAHI B A2 23,000 11,000 12,000
ONEZH MMz s 8L B4 0
OXE=g E43IAMY FNET &9
500,000& *63] 3,000
Py 2,100
Al 900
OZ=2YE Muiolzs s ¥ s 24
800,000& *153] 12,000
Py 7,900
Al 4,100
OASHZ MHDIz2 g AL 24
800,000& 103 8,000
2 4,000
Al 4,000
12 JIEt2 &= 1,000 1,000 0
OXNY=sY EHIAIY s ALY
250,000& =4 3] 1,000
2 700
Al 300
402 SI2FXHE0| M 830,000 336,000 494,000
= 545,000
Al 285,000
01 QI2t X2 X 830,000 336,000 494,000
ODNHXBISA oliJte SASK ZHAIY (Hl
22 AM=E HWOAY) 180,000,000 * 1t K| 180,000
2 90,000
Al 90,000
O3t HEUM MAMSX AL (ZDI])
250,000,000& =1 &t X] 250,000
2 175,000
Al 75,000
O3 HEUMN MM L (R2)
170,000, 000& *=1E+ X| 170,000
2 119,000
Al 51,000
O3 HEUM MAMSX A (O=2lI})
230,000,000& *1 &t X] 230,000
2 161,000
Al 69,000
405 Ko SHI 30,000 0 30,000
=z 21,000
Al 9,000
01 XA 2 ZF S| 30,000 0 30,000
OXNYsHEHLs JNEsXE 8272
10,000,000& *x3= 30,000
2 21,000
Al 9,000
ASHEZ0FAIEY 126,400 94,400 32,000
= 47,400
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Ha: HHX
ool ASHESY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 79,000
301 et a = 6,000 6,000 0
< 2,250
Al 3,750
10 HALAHI 242 6,000 6,000 0
OzlDEE WA Sgg2edls s FIHEL
600,000& x103l 6,000
< 2,250
Al 3,750
402 RIZEXt201 ™ 120,400 88,400 32,000
< 45,150
Al 75,250
01 RIZEAt2E X 120,400 88,400 32,000
OzZINFE e 2 I
48,400,000& »1&H X 48,400
< 18,150
Al 30,250
OAMEMA THEHAI RIls ESHE AlEH
10,000, 000 *47H 2~ *80% 32,000
< 12,000
Al 20,000
OXEE HUMFIMHEE SSLHI= Al
0,000,000 5%t XI *80% 40,000
< 15,000
Al 25,000
NEsEXNEZAY 2H3AA 100,000 0 100,000
& 50,000
Al 50,000
402 RIZFX20l ™ 100,000 0 100,000
& 50,000
Al 50,000
01 RIZEAt2E X 100,000 0 100,000
O4EUE 1:21 SXNEL AY(DAS XY
EM Y= S4AHY) 100,000,000 «1EH X 100,000
= 50,000
Al 50,000
FHs4d=2d 475,896 499,775 A 23,879
& 120,000
Al 355,896
FHASE LT 325,896 318,305 7,591
101 @124 Hl 80,871 80,005 866
04 JIZHZ2Z2XREES 80,871 80,005 866
OblRel ASER ML At
38,8803 260 x8YH 80,871
201 €24 54,000 39,500 14,500
01 At 22l 3,000 3,500 A 500
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2AM: sgIls4d
BE: I
@2 FHEHE2Y (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OZ0lae 2485 NPEE P2
250,000& 123 3,000
02 3324t 51,000 36,000 15,000
OblFR2 sFst Hdxs NI
4.,000,000& x12& 48,000
O0|3e 2SI MA ARs A& & H S XY
300,000& 103! 3,000
206 M = Hl 44,590 106,800 NB2,210
01 X2 bl 44,590 106,800 N62,210
ODIR2IUZBESI[IMA RS 22H RFRH|
2,000 *5002| & =501 & 5,000
Onlre o388 JHFLY 22,0003 *x400kg 8,800
OXJIHOI(ZEIH) ¥ BHETHZ 18,250
SEN 2 #2¢ 75,000& 308 A 2,250
e ss222e Y
100,000 102 A« 11& 11,000
Hf & NACL 2 & 25,000& 2001 5,000
OZJl™ol(gdlolot) ¢ 700,000 x12& 8,400
OonlRe =523 IHEd M2 2,700
BiStAlE 2 ¢ 35,000& 3L x12& 1,260
SEFY 30,000& 4L x12& 1,440
Oool3#el X 28y 432
30,0003 x45 +12& 1,440
207 Ao Y| 52,835 80,400 N 27,565
03 AlE A 32| 52,835 80,400 N 27,565
O0lel UBEs ANGAT W27Y 9,200
dzsmEE s227Y
10, 000& =801 10 8,000
JIEF 2B 4+H AIE@ME 7¢
100,000& ~12& 1,200
OFJIY0I(2EIH) & Y A8 3,135
SEIIH O 2l 165,000& 15 2,475
ZEIH FAL2SH 2L 132,000& x5S 660
Ooo|3e 2283 ANHEsd ME 27,300
>EHSH 2 100,000& x5 x 12& 6,000
XD O XAIE ¢
250,000 x6EF A %12 18,000
AtZHis e AU 2¢
550,000 68 A 3,300
ool2e XN 28xg 4572
40,000 x5Z 2 128 4,800
OblFRe d7s AME 2= 8,400
CIZEQMA AIEHE 2L
300,000& *13|x12& 3,600
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L= B

el

sJl=dd
ERSPAR]
F0E4E=29

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Noisd ANEHE 2
400,000 13«12 4,800
307 glz2+ol & 2,400 2,400 0
05 RIZt2E = 2,400 2,400 0
ODITEUBED MRS 200HY|
200,000 128 2,400
401 Al HIZ 201 Y] 24,000 0 24,000
01 A& HI 24,000 0 24,000
ODITel A ASHT TY IHTA
24,000,000& =14 24,000
402 BI2EX=0| M 67,200 0 67,200
01 RIZEAI=2E X 67,200 0 67,200
O0lFcl QAEE dase oo XA
12,000, 000 *60% 67,200
g3 0¥l E3t & 150,000 0 150,000
& 120,000
Al 30,000
201 £B-2dH| 3,500 0 3,500
= 2,800
Al 700
01 At 22l 3,500 0 3,500
Og&d0lFel SatNBAL=E AtR2te]
175,000& 202/ 3,500
& 2,800
Al 700
202 Odl 8,000 0 8,000
= 6,400
Al 1,600
01 = LH 4 Hi 2,000 0 2,000
OLRDIPe SN ZHDF WO
100, 000& 42 «53| 2,000
& 1,600
Al 400
04 =Xl 2t H 6,000 0 6,000
Od&olel EstAAs o A&X $iX 02
2,000,000& 3 6,000
& 4,800
Al 1,200
206 M= Hl 30,750 0 30,750
& 24,600
Al 6,150
01 M= 4l 30,750 0 30,750
Og&0lrel Satist USSR MMUWE &
E=2s 327,000& x55+10& 16,350
& 13,080
Al 3,270




SN SYISUE
I3 JH¥AA
Sl =042 Y (S &2)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
g0 2e Sz Nosd & 22z
ESINEE= 240,0008 *55 122 14,400
2 11,520
Al 2,880
207 Ao 30,750 0 30,750
2 24,600
Al 6,150
03 Al8 & 22 H| 30,750 0 30,750
OdalIRel SN MasHEN A7
2 300,000& x55 +7 2 10,500
2 8,400
Al 2,100
Og&0IRel Szt S48 &d 72
200,0002 *6Z *103] 12,000
2 9,600
Al 2,400
OgR0IPel SN Fyde APWR 7
= 150,000& x55+113] 8,250
= 6,600
Al 1,650
301 LetE = 6,000 0 6,000
2 4,800
Al 1,200
07 el2tel=2/0i bl 4,000 0 4,000
ogaiRel Satids st AKX #X
t2l e 2,000,0002 x2 4,000
2 3,200
Al 800
10 HALAMHI 24 = 2,000 0 2,000
OLRDITE SHNAS SIt J2DE BAE
o 10,000 x40 %53 2,000
2 1,600
Al 400
307 212t0 & 20,000 0 20,000
2 16,000
Al 4,000
02 B ER 20,000 0 20,000
OFeM & 012l HIOHe AL
20,000, 0003 » 14! 20,000
= 16,000
Al 4,000
402 QI2tXt=01 & 21,000 0 21,000
& 16,800
Al 4,200
01 2t t=E X 21,000 0 21,000
OflRel ¢4Jles sHES A4SAE
10,000, 000& *37H 2= x70% 21,000
= 16,800
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ool =0S42Y CEEEED
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 4,200
405 XHAHFEIEHI 30,000 0 30,000
2 24,000
Al 6,000
01 XAt 2 E F S| 30,000 0 30,000
OAE4 010122 HE &Y 2Y
10,000, 000 & =3CH 30,000
2 24,000
Al 6,000
=M =ES 302,728 284,988 17,740
SESNUHAMMASZ KR 174,000 219,500 A 45,500
402 BI2H X201 M 174,000 176,800 A 2,800
01 QI2t X2 X 174,000 176,800 A 2,800
OFg MNZA HEMA TP XA
255,000,000 *60% 153,000
OF& M2 JISMA Al
3,500,000 *10= *x60% 21,000
MII=ASAEL 42 552 49,854 NT,302
101 e1214| 19,052 18,704 348
04 JI2ZtHIZ22NEES 19,052 18,704 348
OXNMPATH MZAHMAE DI2EH 2124 H]
38,880& x7H 10U »x7& 19,052
206 M = dl 23,500 10,150 13,350
01 =4l 23,500 10,150 13,350
ASANEEZY 2AXNMHF2Y 5,500
sJ| 7 2L 50,000& *10& 500
IR 2 300,000 x10& 3,000
sl 200,000 x10& 2,000
OAS ANEZE 29 8F 2¢ 18,000
M2T 44 24 Heg K32
1,800& x4 & *2,0004 14,400
S&HAE SIH 22 7Y
1,800& 4= 5004 3,600
K AHY 2k A 17,776 15,634 2,142
101 e1214| 7,776 7,634 142
04 J|12ZtHIZ22NEES 7,776 7,634 142
O LA SY olAHH| 38,880& 200 7,776
206 M = Hl 7,000 1,000 6,000
01 X2 H| 7,000 1,000 6,000
OJlZASMA TR
200,000 x5 1,000
OJleaz2 MA I 2 100,000 10& 1,000
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SIS dH

g dEXE
& SHAEEY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&ACH NS X BHOIAAZE N2
2,500,000 23] 5,000
405 RHoHF S HI 3,000 2,000 1,000
01 AL EZFH S 3,000 2,000 1,000
OXZtHd H&FD F 3,000, 000 *1CH 3,000
T WNZ A A 68,400 0 68,400
207 A RO 66,000 0 66,000
03 A& &2l 66,000 0 66,000
QA AHOI2Z 2SB) MR MAH Ui oH
-2 500,000& 125 6,000
OHAES MBI R 2T E 447
7,000& *1,000H 7,000
OHAEE MBI &R A HHE 427
7,000& *1,000% 7,000
OFe MIA Mo AS ML 7L
40,000& *1,0004¢ Xt 40,000
OFe M A Mo HoldA HE IIE 2
10,000& »2& *300H 6,000
301 et a = 2,400 0 2,400
10 HALAHI 242 1,200 0 1,200
OFe MZA Mo sl W=
6,000 «50H x4 3] 1,200
12 JEE4 3 1,200 0 1,200
OFe MIA i sl WF LM
300, 000& 42 1,200
sdRsEE 42,760 10,000 32,760
= 17,260
Al 25,500
sEdRESE24H 14,000 10,000 4,000
201 L4l 12,000 10,000 2,000
01 At 22l 2,000 0 2,000
ORS3ZHH 29 500, 000& 42 2,000
02 2324l 10,000 10,000 0
OsURSHEBANAEY ANLEEH KK ,ms AHEZ
= 10,000
405 TtabF S| 2,000 0 2,000
01 AL EFHSHI 2,000 0 2,000
OoZzg4ag &d ¢ 200,000& 108 2,000
s3I JN =8 835t 13,000 0 13,000
= 6,500
Al 6,500
201 Let249] 3,000 0 3,000
= 1,500
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AN sgI=d
Ha: HHX
©9l: SYRSlE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,500
01 Ak 2reltl 3,000 3,000
OsJtZglls SZA43s MHE & 29
30,0002 *53] 1,500
= 750
Al 750
O=sg0ol e-HINXNA HEY DEAZE ME
500,000 *3& 1,500
= 750
Al 750
301 et a3z 10,000 10,000
2 5,000
Al 5,000
10 #ALAHIE A Z 5,000 5,000
OsJtZglls SEAS8s u=s FIEY
500,000 x33| 1,500
= 750
Al 750
O=sgol e-HIXILIA HESY NEEFAT B4
175,000& »202] 3,500
= 1,750
Al 1,750
12JE243 5,000 5,000
O=sgol e-HIXILIA HEZ DE ZAtxE
250,000& x203| 5,000
= 2,500
Al 2,500
A=gll=d 23 10,000 10,000
2 5,000
Al 5,000
101 14l 10,000 10,000
= 5,000
Al 5,000
04 JI2ZtHZ22 a2+ 10,000 10,000
OXNYEs sgll=s 235 AEXE 10,000
= 5,000
Al 5,000
SNE ASXZA 24 5,760 5,760
= 5,760
202 Oddl 1,920 1,920
= 1,920
01 = LH 4 Hi 1,920 1,920
OsttE ASEZAEZ4A ol
20,000& #22] x40 It 1,600
= 1,600
OJEE ZAEZ4A ¢l 20,0003 *43| 4= Dt 320
= 320
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2N sellsd
Ha: S
2 sPRSEE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 L2 A= 3,840 0 3,840
= 3,840
10 #AtAHI 2 &3 3,840 0 3,840
OsdtE ASTZA 24 st Atdl=
40,000& 23| x40 Jt 3,200
= 3,200
OJIEE ZMEA =t Atdll=
40,000& *43| x4= It 640
= 640
HH2F A 389,842 398,670 N 8,828
HE2IH(sEIl=dH) 222,502 210,830 11,672
A2 (sYII&dH) 222,502 210,830 11,672
101 14 Hl 222,502 210,830 11,672
03 RIAHAZZHE =+ 222,502 210,830 11,672
OYREX(HFAHY, =42 1Y, 01R21Y) 72,918
S dlEe 1,015, 7403 «3H 123 36,567
o0z 36,567,000% /12& *400% 12,189
wns2xl 120,000 x3H «12& 4,320
Mz AlH| 130,000& x3H 128 4,680
NEEELE
5,985% 1.5« 15A1 2t +x3H »12& 4,848
HEFOHHI(E , F=4)
1,015,740 «3H x120% 3,657
O E At 47,8822 *3H 102 1,437
DaAc 3,300
IR (HiRX2, 222, XHH2) 1,920
OsllA+=22A(5Y) 149,584
2= 1,240,000& x5H x12& 74,400
o0z 74,400,000& /122 *400% 24,800
ME==g= ]| 120,000 x5H 128 7,200
&Mz AlY| 130,000& x5H «12& 7,800
ANZte 2R+
7,301 *15A1 2«1 5HH «5H » 12 9,857
HEZOHHI(E,54)
1,240,000 5% x120% 7,440
S22 R+E 58,4073 1 .58 «5H « 152 6,571
It E At 58,4072 *5H 102 2,921
DaAc 2,100
=4 (R X4, 228, XHH6) 5,280
A =S 1,215
I (SIS HE) 167,340 187,840 A20,500
Jl2d8dl(slIsdH) 167,340 187,840 220,500
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